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Question: 1 

This is used as a fungicide 

(A) Chlorine 

(B) Sulphur 

(C) Phosphorus 

(D) Carbon 

Ans: B 

Sulphur 

Question: 2 

Atomic number and mass number of sodium are 11 and 23 respectively. 

Number of neutrons in sodium is 

(A) 11 

(B) 12 

(C) 13 

(D) 23 

Ans: B 

12 

Question: 3 

The second layer of atmosphere is 

(A) Thermosphere 

(B) Stratosphere 

(C) Mesosphere 



 

 

(D) Troposphere 

Ans: B 

Stratosphere 

Question: 4 

Displacement in one second is ___ 

(A) Momentum 

(B) Acceleration 

(C) Speed 

(D) Velocity 

Ans: D 

Velocity 

Question: 5 

The vibrations in stretched string do not depend on 

(A) Volume 

(B) Linear density 

(C) Tension 

(D) Vibrating length 

Ans: A 

Volume 

 

 

 


